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MAT 140, Spring 2018 — D. Ivansié Covers: 1.5, 1.6 Show all your work!
Solve the inequalities. Write your solution in interval notation.
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4. (l4pts) For her birthday, St:Jhrista is considering renting an event venue. Her choices are
Party Pad, which charges $100 per event plus $40 per hour, or Fiesta Flat, which charges
$200, which includes two hours, and then $30 per hour for every hour after the first two.
Christa plans her party to last at least two hours. For which number of hours is Party Pad
the better option for her? Solve as an inequality.
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5. (14pts) Max rows his boat at 6mph in still water. One day he takes a round-trip on a
river, taking 2 hours to row downstream, and then 3 hours to row back upstream.

a) What is the speed of the river?

b) How far did Max travel in one direction?
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6. (14pts) How many liters of pure water must be mixed with 4 liters of a 20% solution of
sulphuric acid in order to get a 13% solution of sulphuric acid?
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